10 9 8 7 6 5 4 3 \ 2 \ 38721

"
-
‘ ) Lo ]
15.7 W TZ&T
REF. -50 OPTION, 62 1%
CLAMP WASHER SCREW I .
(WHERE APPLICABLE)
9.53
— ~— 2= TYP.
375
8.0
- —— == TYP.
6 32
1\ = o % !
23 | i i i i 95
09 L N ==
I [ R R
REF. -47 OPTION,
"WIRE READY" SCREW 0.81
(WHERE APPLICABLE) 525 1 P
032
NOTES:
1. MATERIAL: SEE TABLE
2. FINISHES: SEE TABLE
3, "XX* REFERS TO THE QUANTITY OF CIRCUITS.
4 UL FILE= E48521, SEE SHEET 2.
5. CSA FILE# 025562, SEE SHEET 2.
6. INSULATOR IS UL 94 V-0
7. ALL COMPONENTS ARE ROHS COMPLIANT.
= S %[ [ouALITY| GENERAL TOLERANCES DFENSON STYLE SN | PRSI NS THIRD. ANGLE
O S=5| |symBoLs| (UNLESS SPECIFEED) MM/IN 2: INCH ©d PROJECTION
6 | xx [SCREW 6-32 BHD, PH-SL. WRDY (-47 OPT)  |STEEL IN (LEAR (FROMATE| =S = T INCH | oRAWEY BRTE——[TITLE
5 | XX |SCREWSWASHER #6-32 PAN, PH-SL 1-50 OPT) [STEEL IN CLEAR CHROMATE | S =5 (3| W=0 [ZPLACESE——- [#— [ YORK 2006/02/08 9.53/.375 SR BTS ASY,
2 z 3 PLACES[+ -~ [+.005 |CHECKED &Y DATE PC RA, NO MTG
4| xx [SCREW #6-32 BHD. PHIL-SLOT (-49 OPT) |BRASS NICKEL PLATE LS |E\/-0 [ZPIACES|F05 =01 RUEROSS 2006/02/08
3| xx [SCREW #6-32 BHD, PHL-SLOT (STDJ  |STEEL ZN, CLEAR CHROMATE [ = Z S 8|4 TPLACE [£0.05 |f-—-  |APPROVEDBY  DATE ~
S=SEE ANGULAR E 2 ©  RDEROSS 2006/02/08 Motex - MOLEX INCORPORATED
2 KX | TERMINAL, WW BRASS TIN PLATE o % =5z MATERIAL NO. DOCUMENT NO. SHEET NO.
1| 1 [INSULATOR, SR, NO MTG. PBT, 30% GF  |BLACK O==% DRAFT WHERE APPLICABLE| SEE CHART | SD-38721-001 1 OF 2
<noo= WTHR DS SIZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRETARY TG MOLEX
men_[arv. [ oescrPTiON MATERIAL FINSH C z INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Tb_frame_B_P_AM_T 9 8 7 ‘ 6 5 4 ‘ 3 ‘ 2 1
Rev. D 2005/12/08




10 9 8 7 \ 6 \ 5 \ 4 3 2 \ 38721

© 2> (1>

MATERIAL NO.  [MATERIAL NO, MATERIAL N, MATERAL NO.  |UL & CSA
NUMBER OF DM, DIM, WITH STD. SCREW |WITH WRE READY [ WITH BRASS W/CLAMP-WASHER | REFERENCE
CIRCUITS *XX" A" B (-C_OPT) SCREW (-C-47 OPT. | SCREW (-C-49 OPT) [ SCREW (-C-50 OPT) |NUMBER
02 211831 953  [375] | 38721-5307 | 38721-6202 | 38721-5902 | 38721-5602 72
03 307 (121 [1905 (7501 | 38721-5303 | 38721-6203 | 38721-5903 | 38721-5603 72
04 401 (158] [2858 [1125] | 38721-5304 | 38721-6204 | 38721-5004 | 38721-5604 72
05 498 [196] [3810 [1500] | 38721-5305 | 38721-6205 | 38721-5905 | 38721-5605 72
06 592 (733] [4763 [(1875] | 387215306 | 38721-6206 | 38721-5006 | 38721-5606 72 NOTES:
07 688 (7711 [5715 (22501 | 387215307 | 38721-6207 | 38721-5007 | 38721-5607 72
L s e L et
10 973 [383] [8573 [3375] | 38721-5310 38721-6210 38721-5910 38721-5610 72 IN CHART ALONG WITH THE INSTRUCTIONS BELOW.
11 1069 (4211 _[9525 [3750] | 38721-5311 38721-6211 38721-5911 38721-5611 72
12 163 [458] [10478 [4125] | 38721-5312 38721-6212 38721-5912 38721-5612 72 [2 > FOR ASSEMBLY WITH CLAMP-WASHER SCREW, ADD -50 TO
13 1260 [4.96] [11430 [4500] | 38721-5313 38721-6213 38721-5913 38721-5613 72 THE UL & CSA REFERENCE NO.
14 1353 (533 [12383 (£875] | 38721-5314 38721-6214 38721-5914 38721-5614 72
15 1450 (571 [13335 [5250] | 38721-5315 38721-6215 38721-5915 38721-5615 72
16 1544 [608] [14288 [5625] | 38721-5316 38721-6216 38721-5916 38721-5616 72
17 1641 [6.46] [15240 [6.000] | 38721-5317 38721-6217 38721-5017 38721-5617 72
18 17735 [683] [16193 [6375] | 38721-5318 38721-6218 38721-5918 38721-5618 72
19 1831 (7211 17145 [6750] | 38721-5319 38721-6219 38721-5919 38721-5619 72
20 1925 (758] [180.98 (7.425] | 387215320 | 38721-6220 | 38721-5920 | 38721-5620 72
21 2022 __[7.96] [19050 [7.500] | 38721-5321 38721-6271 38721-5971 38721-5621 72
22 216 (833) [20003 (7.875] | 38721-5327 | 38721-6222 | 38721-5922 | 38721-5622 72
23 2217 (8711 20955 [8250] | 387215323 | 38721-6223 | 36721-5023 | 38721-5623 72
2 2306 (908] [21908 [8.625] | 387215324 | 38721-6224 | 36721-5024 | 38721-5624 72
2 2403 (9.46) [22860 [9.000) | 387215325 | 38721-6225 | 38721-5925 | 38721-5625 72
26 2096 (983] 123843 [9375] | 387215326 | 38721-6226 | 38721-5926 | 38721-5626 72
SERIES j 1 OPTIONS (WHERE APPLICABLE)
B UL & CSA FILE INSTRUCTIONS
~ N pary pany g % E GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS
&0 ~ S8 SY“@BL&E (UNLESS SPECIFIED) MM/IN 2:1 INCH ©d ;E‘E?JDECAT%GNLE
g g § é’ _ mm ‘N[H DRAWN BY DATE TITLE
193 85855 v:Q TPIACESIE — [+— .. YORK 2006/02/08 953/.375 SR BTS ASY,
D-Z2TYP. < g N SPLACES = -—— |+.005 |CHECKED &Y DATE PC RA, NO MTG
PTH PATTERN 076 8 paly| /=0 [ZPLACSEEOTS [£01  ROEROSS  2006/02/08 .
w oo % 1 PLACE + 025 +-——- APPRDVED BY DATE
5=-88 ANGULAR + 2 © __RDEROSS 2006/02/08 Motex - MOLEX INCORPORATED
% =& MATERIAL NO. DOCUMENT NO. SHEET NO.
e Z<8 DRAFT WHERE APPLICABLE| SEE CHART | SD-38721-001 2 OF 2
Ginislel< WTHR DS SIZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRETARY TG MOLEX
C g INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Rev. B 5005/ 13108 9 8 7 | 6 5 4 | 3 | 2 1




